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Ideals for irreducible component#ﬂ)f Xpar

I = (—u* + 250 + - 4 b—u, w4 a1 T 20 20— 1)
IV = (b+u, a+1, u?> —u—1)

* 2 irreducible components of dim¢ = 0, with total 49 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
It = (—u*'4+25u3%+- - -+b—u, uS+u**+-.-+a+1, v +2u* ... —2u—1)

(i) Arc colorings

0
a2 = \uy
1
a5 = u2
—u
a1 = \—ud+u
—u? +1
G’G = _u4 + 2u2
u
a1l = \u
—u? 41
a3 = 7,“2
—u®® —ut o —9u—1
ag = \u* — 2503 + ... 4 8u? +u
u” — 4u® + 4ud — 2u
az = u” —3u® +u
—2utt — 5 . — 2002 — Tu
ag = \ —2u40 +58ut 4. +4u+2
—u” 4+ 4u® — 4ud + 2u
a0 = \ —u? +5u” — Tu® + 2u® +u
—ut0 — o — 19U — Tu
ar = \ —u® 4 29u* + ... +3u+1
(ii) Obstruction class = —1
(iii) Cusp Shapes = 8u%0 + 11u% + -+ —u — 13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C10 ulT +15u%C + ... — 8u — 16
Co,C8 w4+ 4
€3,C4,C
3,C4,C5 W ot oy 1
C11,C12
Cg,C7,C9 =3 w41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,c1o Y7 + 31940 + .- + 16672y — 256
C2,C8 yiT 15y 4+ — 8y — 16
C3,C4,C5 y47760y46++18y71
C11,C12
Cg,C7,Co y47—39y46+--~+37y— 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV —1(vol + /—1CS) Cusp shape
u=0.922487 + 0.4026771
a = —0.207419 4+ 0.2511667 | —3.29083 — 10.418207 —13.6071 + 8.50497

b= 1.74840 + 0.710631

u = 0.922487 — 0.4026771
a = —0.207419 — 0.2511661 | —3.29083 + 10.418207 —13.6071 — 8.50491
b= 1.74840 — 0.710631

u= 0.879259 + 0.3786371
a= 0.457803 — 0.1446321 1.34378 — 6.10986.1 —9.33039 + 6.978531
b= —1.55193 — 0.798611

u= 0.879259 — 0.3786371

a= 0.457803 + 0.1446321 1.34378 + 6.109861 —9.33039 — 6.978531
b= —1.55193 + 0.798611

u = —0.938794

a = —0.801843 —5.57924 —16.5310

b= —1.64853
u = —0.868977 + 0.3425191

a= 0.139578 — 0.7190671 | —2.03144 + 4.336761 —12.48751 — 4.756721

b= 0.79264 — 1.61212]

u = —0.868977 — 0.3425191
a= 0.139578 4+ 0.7190671 | —2.03144 — 4.336761 —12.48751 +4.756721
b= 10.79264 + 1.612121

u= 1.058930+ 0.1783731
a = —0.112920 4 0.7906931 | —9.70306 — 3.816641 | —19.0886 + 0.1
b= —0.911890 + 0.2652161

u = 1.058930 — 0.1783731
a = —0.112920 — 0.7906931 | —9.70306 + 3.816641 | —19.0886 + 0.1
b= —0.911890 — 0.2652161

u = 0.921531 4 0.0842881
a = —0.162135 — 1.0143601 | —3.72700 — 1.881661 —16.5807 4 5.16391
b= 0.416091 + 0.3867721




Solutions to I}

V=1(vol + y=1C)

Cusp shape

0.921531 — 0.0842881
a = —0.162135 + 1.0143601
b= 0.416091 — 0.3867721

u =

—3.72700 4 1.881661

—16.5807 — 5.16391

u = 0.823939 + 0.3234441
a = —0.758346 — 0.1392571
b= 1.28476 + 0.853391

—1.70171 — 1.678901

—12.57865 + 4.157141

u = 0.823939 — 0.32344471
a = —0.758346 + 0.1392571
b= 1.28476 — 0.853391

—1.70171 4 1.678901

—12.57865 — 4.157141

u = —0.788716 + 0.3769161
0.038734 + 0.5073461
b = —0.37806 4 1.486631

a =

1.90040 + 0.487771

—7.77695 — 1.439191

u = —0.788716 — 0.3769161
a= 0.038734 — 0.5073461
b= —0.37806 — 1.486631

1.90040 — 0.487771

—7.77695 + 1.439191

u = —0.722890 + 0.4380211
a = —0.212238 — 0.2907041
b= —0.01128 — 1.431331

—2.10005 — 3.338421

—12.59413 4- 1.703071

u = —0.722890 — 0.4380211
a = —0.212238 + 0.2907041
b= —0.01128 + 1.431331

—2.10005 + 3.338421

—12.59413 — 1.703071

u = —0.707872
a= 0.283787
b= 0.561800

—1.23668

—7.22640

u = —0.091614 + 0.6300311
a= 198364+ 0.952991
b= —0.058376 — 0.2798031

—0.19552 4 6.933921

—8.85712 — 6.129631

u = —0.091614 — 0.6300311
a= 198364 —0.952991
b = —0.058376 4 0.2798031

—0.19552 — 6.933921

—8.85712 + 6.129631




Solutions to I}

V=1I(vol + /=1CS)

Cusp shape

= —0.359859 + 0.4831651
= —0.656484 — 0.4547281
0.334069 + 0.5417241

—5.17789 + 1.637221

—14.9295 — 4.40511

—0.359859 — 0.4831651
= —0.656484 + 0.4547281
0.334069 — 0.5417241

—5.17789 — 1.637221

—14.9295 4 4.40511

= —0.042621 + 0.5951991
= —2.13353 — 0.707811
0.033126 + 0.3767001

4.14501 4 2.813721

—3.74235 — 3.473201

—0.042621 — 0.5951997
—2.13353 + 0.707811
0.033126 — 0.3767001

4.14501 — 2.813721

—3.74235 + 3.473201

0.026672 + 0.5505631
= 2.30737 + 0.413801
—0.041983 — 0.4974201

0.68616 — 1.299341

—6.70637 + 0.785681

0.026672 — 0.5505631
= 230737 — 0.413801

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b = —0.041983 + 0.4974201

0.68616 + 1.299341

—6.70637 — 0.785681

u=1.60695 + 0.083051

a = —0.81808 — 1.54422] | —9.99222 + 1.516311 0
b= —1.04952 — 1.978721

u= 1.60695— 0.083051

a = —0.81808 4 1.544221 | —9.99222 — 1.516311 0
b= —1.04952 + 1.978721

u= 1.64487

a=—1.09171 —9.58532 0
b= —1.39259

u= 1651474 0.083721

a= 1.39395+1.502281 | —6.56652 — 2.137951 0

b= 1.79104 + 1.914091




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 1.65147 — 0.083721
= 1.39395 — 1.502281
1.79104 — 1.914091

—6.56652 + 2.137951

—1.67028 + 0.076751

—4.10758 4- 2.302711

—10.45730 + 3.150041

—1.67028 — 0.076751
—2.75333 — 1.265361
—4.10758 — 2.302711

U
a
b
U
a = —2.75333 + 1.265361
b
U
a
b

—10.45730 — 3.150041

—0.206634 + 0.2528431
1.085750 — 0.5221311
—0.141040 — 0.4466751

—0.336379 4 0.8004431

—8.09599 — 8.505631

= —0.206634 — 0.2528431
1.085750 + 0.5221311
= —0.141040 + 0.4466751

U
a
b
U
a
b

—0.336379 — 0.8004431

—8.09599 + 8.505631

u= 1.67880+ 0.08607I
a = —1.81262 — 1.550751
b= —2.32616 — 1.965661

—10.96150 — 5.964841

u= 1.67880— 0.08607I
a = —1.81262 + 1.550751
b= —2.32616 + 1.965661

—10.96150 + 5.964841

u = —1.67889 4+ 0.097111
a= 297433 —0.870201
b= 4.36294 — 1.663841

—7.59134 + 7.930771

u = —1.67889 — 0.097111
a= 297433 + 0.870201
b= 4.36294 + 1.663841

—7.59134 — 7.930771

u = —1.69341 + 0.016451
a = —0.66308 + 1.500991
b= —0.98851 + 2.846051

—13.01140 + 2.241341




Solutions to I} V—1(vol + /—1CS) Cusp shape
u = —1.69341 — 0.016457
a = —0.66308 — 1.500997 | —13.01140 — 2.241341 0
b= —0.98851 — 2.846051
u = —1.69112 4+ 0.107591
a = —3.04031 + 0.587811 —12.4253 4+ 12.41821 0
b= —4.39614 + 1.237731
u = —1.69112 — 0.107597
a = —3.04031 — 0.587811 —12.4253 — 12.41821 0
b=-4.39614 — 1.237731
u= 1.69743
a= 216202 —14.9500 0
b= 2.74953
u = —1.72282 + 0.038491
a= 1.207830 — 0.3824151 | —19.6013 + 4.65091 0
b= 1.73369 — 1.181601
u = —1.72282 — 0.038497
a= 1.207830 + 0.3824157 | —19.6013 — 4.65091 0
b= 1.73369 + 1.181607
u= 0.239957
a = —3.06923 —2.02254 —2.40680
b= 10.661230




IL I =(b+u,a+1, u* —u—1)

(i) Arc colorings

(ii) Obstruction class =1

(iii) Cusp Shapes = —17
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C
1,€62,C8 u2
€10
2
c3,C4,C5 u®—u—1
Ce, C7 (u—1)?
“ (u+1)*
2 1
€11, C12 u” +u—
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cg y2
€10
C3,C4,Cs5 y2_3y+1
C11,C12
2
€6, C7, C9 (y—1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to IY V—1(vol ++/=1CS) Cusp shape
u = —0.618034
a = —1.00000 —2.63189 —17.0000
b= 10.618034
u= 1.61803
a = —1.00000 —10.5276 —17.0000
b= —1.61803
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C10 u?(u” 4 15u"® 4 - — 8u — 16)
Ca,C8 w?(u” — w4 du+4)
3, C4,Cs (u? —u— 1) (" +2u? ... —2u—1)
Cs, C7 (u—1)?)(u* = 3u® - —u+1)
) (u+ 1)) W' —3u®® .- —u+1)
c11, C12 (u2+u—1)(u47+2u46+---—2u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, ¢10 Y2 (y*" 4+ 31y*0 + - + 16672y — 256)
c2, s v* ("7 +15y"0 + - — 8y — 16)
C3,C4,C5 <y2 _3y+1)(y47_60y46++18y_1>
€11, C12
Cg, C7,C9 ((yfl)Q)(y47*39y46++37y71)
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